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Intro

Today we will 7"va learn ©”1 97 of MmN’ NoONH.
The topics we will learn about include

The two stages of marriage
POIPR and PRV

The 2 stages of marriage which are po1x and priw
po1rRis the first stage, and may be accomplished by the
husband giving his wife an item that is worth a o195 mw.
After po1R, she is forbidden to all other men - and, both
he and she are forbidden to marry all N9y, all proscribed
relatives. However she does not yet enter the husband’s
mwn, and does not yet receive the benefits and responsi-
bilities of a full wife. ﬂP1'7T'ID

PR1w1 is the second stage and is accomplished through

7911 - the husband bringing the wife into his home. After f

Ry, the wife is considered to be a full-fledged wife and I a l’]'f) ]nD may marry a
receives the benefits and responsibilities of a full wife.

For example; n1;1:
773 99791 1 RV 0D

The rights of the husband to inherit his wife, or ifhe’s a 172
that he may become xnv for her, and to annul her vows by
himself; are only acquired by the husband after pxyws -

. We will also learn a nponn whether a 9173 172 is permitted
to marry a N3, and,
A npmn whether a 9173 172 may marry a woman that was

119775 RSWw nHya np]bnn

mnad nova

IFa worman was s3> by If a73 105 may marry a
Is it considered X2 and she is a 73t and 797799 IMOR

Or is it not considered X2 and she is not a 7t and will be woman that was
Annab mwd
D997 XYW NHY

nMoNn
If a1 0> may marry a
woman that was
NN NHYY
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So let's review

We begin with the Mishnah;

TINOR RW? KD 9172 1712

A5 is forbidden to marry a widow,
PRIVIN 1 735K P2 POITRI D IO 12
Whether she’s an mn5R from PoOITR or PRIV

The mwn continues with a np>mn
TI27 DR RW? R

He may not marry a naxa

D122 PPV PV 227 WYHIR 27

However, they agree
PV NOW DR RW’ R
He may not marry a y» now
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The X2 begins by asking

ROWH

It's obvious that a %17 75 may not marry an
PRI P2 POYPRA I P2 IDOR,

Since they are both an nbR, a widow?

The ) answers

IO MINOR 7IOR 95 RN I

By ann it says

TAR T2 TINOR AW

And here it says

mp RY LLIOR

We might say that just as 90 was an PRI 1 FINOR,
So too, the 5172 770 is only forbidden to marry an 1 nabR
PRIV

However, we do not rule this way, because

VT R

We learn mim5R from nwi

PRIV D P2 POITRI O P2V N

Both are a divorcee, because we have no source to
differentiate,

PRIVIT O P2 POIPRA 0 P2 IR R

The mwn presented a np>mn regarding a nana

The R»p R0, who, as taught in the Braisa, is 'R 19, holds
that a 5172 172 is MOR to marry a NIy

PYPW 727 15R *27 hold that a %173 170 is 9mm to marry a
nma.

The X3 explains each opinion:

The Posuk says np 9022 TwR Rim

The xnp Rin holds

75m2 would indicate a 1513, and not a 753, which would
include, and permit him to marry a nm2. However,

75111 indicates that she must have her entire o5n3, which
excludes, and prohibits him from marrying a nna.

Now that the 770 made it forbidden for him to marry a
N33, the extra 2’ in 7)N23 restricts the MOX to the place
of 5113, but permits him to marry one who had

719779 RYW X2

DafHachaim.org

e

2RVVD
It's obvious that @ fzx /2 may not marry
a1l o D P > I,
since 7%»6?/ are both an g,s/é?

RDNT NN
NN NINOR NINOR 9979
NTAND TN
ree N mimby ndabx s

IR I
So tvo, o 7
1 o e 1P e

X

However, we do not rule this way,
because

NWIMAT RDT
JEIEP P 172 D o 2G5
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NN PN R 89

=N NI
N S

Not a nhya
Permits a nhn2

She must have
entire 0’3
Prohibits a m»

Restricts the moox
to the place of 93,
Permits one who had
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YW 27 YHR 727 hold

1912 would indicate a complete 75113, which would
exclude, and prohibit him from marrying a nna.
However,

751n1 means even partial 5103, which includes, and
permits him to marry a nna.

Now that the 7mn permitted him to marry a nn3, the extra
2 in 7521 teaches us

PR M b vrw TY

She must be a complete 7513, which excludes, and
prohibits him from marrying one who had nx»a

757372 XYW PAIOITO P2

This results in two Machlokes regarding eligibility to
marry a Kohen Gadol:

According to PR»17;

A nnais TOR, and,

719772 RHW 115V23 i .

While according to pymnw 227 tyHR 117;

A nanais Iy, and,

19772 ROW 115023 is MOR.
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This results in two Machlokes
regarding eligibility to marry a Kohen Gadol:
//}71/2 9/ Wé 752 2N 2
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The 82 proceeds to present a teaching of

IR AT 2T

N3k 7909 13773 ROW 1HYas

A woman who had 715775 X5>w 2 is forbidden to marry a
973 1.

R17 challenged this from a xn»92:
Regarding onx of a 151n2 173 the 7109 says;
AWRS 777019,

If she is agreeable, the ©iX» must marry her.

We also learn from here that this only applies

1 IR TR,

If she is eligible to marry him;

5172 1795 MRS Vo

VYT Y ARHM YT

If the mp1is an 15K and he is a %173 37,

Or, if she is a nx>m nwiz and he is a 171,

He is forbidden to marry her.

R17 explains this last teaching:

7197722 RN

TINOR DTN RPRORD

151 15 RT 0Wwn D PN

Regarding the 17O’ for the 173 175 to marry the 771 if she
is an mnbR, we cannot say that in her marriage it was X"
19770 because then she’s forbidden to him as a 7153, and
there's no need to mention that she is an 7R

1775 RYW IRD ROR

So we must say that in the marriage it was 13773 Rbw R,
and,

PR OR DION

N> w1 own

He is forbidden to marry her because of min5x, and not
because of m9wa. Clearly, this Xn»72 holds that a woman
who had 715775 X>w 82 is Im to marry a 173 73, which
contradicts the earlier ruling of Rav?

The x) responds;

RO PRD 727730 R

This xn»92 follows R °27 that
19772 ROW 1HY13 is .

MYOR 7270 IORT 2N
21 follows pym»w *27 TYHR 27 that
719779 ROW 5Y11 iS TION.

The Gemara continues to ask;

1902 DIWN RTR IRD TYHOR 7270 'R

If 27 follows 7tY5R *27, why does he say that X5w nxa
15772 makes a woman oK to a %173 170 because of nHwa?
M RIIT D PN

He should’ve said that she is 17O because of 111, which
makes her 710K even to a L1777 }779, as WYOX 17 himself
taught;

A ARWY MWK DW5 RO 7173977 HY K27 139

Any nX’a1 between an unmarried man and woman, not for
the purpose of marriage, renders her a nn?

DafHachaim.org
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qov 17 answers that the case of 27 is

AmN25 AHYIW D

Where

RYR a2 own

RS own

In such a case she is a 7513, but not a 7m

»ax however rejects this answer and says

TUOI PN

RPN I VAR

R RS I A RITRY FOR

Either it is considered X3, and she is a 753, and also a
7, or it is not considered X3, and she is not a 7, and
alsonot a 75wa?

Therefore, the X2 goes back to it being a case of 7>va3
WRH 19777 XYW, and we can find a case where she is a 1512
and not a

TIRHDNARPT T IOR

This would apply by a girl who did pxo:

She is not a 7wy,

She is not a 7,

But she is a iowa.

Therefore, we can say that 37 holds like 7tv5x »27 that
19772 XYW 5V is MOR to a »17a 7o

Therelore, we can
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. The X713 proceeds to a related discussion
RVM 920 17 IR
ANmod 7wa Monad nHYa
Asitsaysinaxnria
nma% oY
>poaw oYY 9
b mws
As Rashi explains - because it's not considered a nx°2 -

Anrop £7p 95 WMl 53

e moye) mamab mhpas
moDaw d O AN mnsd nws

=195 [ becawse it i
not considered a Dt

The xm) presents the source for this
MR 275 R'PIION KT 71D IR

1329 MORT RN RARID

b M PR

From where do we derive that this is not considered a
N0a?

N7

253 NP I PINR RN R

AT PROR A M

DPIW D3 ROR 1 N2vIN °d

A person may not bring as a j29p;

737 NN

An animal used as payment for a nit

255 7

And an animal exchanged for a dog
However, from o1 o) we learn nyaIx R 071w, that
P A PR 259 N

A person may bring as a 127p;

25 INR

An animal used as payment for 572 mn
e kalal

And an animal exchanged for a mm

The discussion of eligibility to marry a Kohen Gadol
continues on the next Daf.
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